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Module 
1 

Reading and Writing 
33 Q U E S T I O N S 

DIRECTIONS 

The questions in this section address a number of important reading and writing skills. Each 
question includes one or more passages, which may include a table or graph. Read each passage 
and question carefully, and then choose the best answer to the question based on the passage(s). 
All questions in this section are multiple-choice with four answer choices. Each question has a 
single best answer. 

1 

Former astronaut Ellen Ochoa says that although she 
doesn’t have a definite idea of when it might happen, 
she _______ that humans will someday need to be 
able to live in other environments than those found 
on Earth. This conjecture informs her interest in 
future research missions to the moon. 

Which choice completes the text with the most 
logical and precise word or phrase? 

A) demands 
B) speculates 
C) doubts 
D) establishes 

2 

Beginning in the 1950s, Navajo Nation legislator 
Annie Dodge Wauneka continuously worked to 
promote public health; this _______ effort involved 
traveling throughout the vast Navajo homeland 
and writing a medical dictionary for speakers of 
Diné bizaad, the Navajo language. 

Which choice completes the text with the most 
logical and precise word or phrase? 

A) impartial 
B) offhand 
C) persistent 
D) mandatory

The following text is from Lilliam Rivera's 2020 novel Never 
Look Back. The text describes the narrator arriving at his 

D) Unfold

C) Rank

B) Remove

mean?
As used in the text, what does the word "place" most nearly 

Domingo when I was a little kid.
ceramic elephant Pops got me on one of his trips to Santo 
against a wall. I place my keys on the bowl right next to the 
"Pops, I'm here!" I drop my bag and set my guitar case 

father's apartment.

A) Put

D) Measure

C) Vary

B) Increase

A) Diminish

precise word or phrase?
Which choice completes the text with the most logical and 

indicating that her work has been quite significant.
world's most frequently cited researchers in her field, 
Loretta J. Mester, who studies central banking, is among the 
example, Federal Reserve Bank of Cleveland economist 
to track how often other scholars refer to that research. For 
One way to ______ the importance of a scholar's research is 
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3 

Following the principles of community-based 
participatory research, tribal nations and research 
institutions are equal partners in health studies 
conducted on reservations. A collaboration between 
the Crow Tribe and Montana State University 
_______ this model: tribal citizens worked alongside 
scientists to design the methodology and continue to 
assist in data collection. 

Which choice completes the text with the most 
logical and precise word or phrase? 

A) circumvents 
B) eclipses 
C) fabricates 
D) exemplifies 

4 

The parasitic dodder plant increases its reproductive 
success by flowering at the same time as the host 
plant it has latched onto. In 2020, Jianqiang Wu and 
his colleagues determined that the tiny dodder 
achieves this _______ with its host by absorbing and 
utilizing a protein the host produces when it is about 
to flower. 

Which choice completes the text with the most 
logical and precise word or phrase? 

A) synchronization 
B) hibernation 
C) prediction 
D) moderation 

5 

Given that the conditions in binary star systems 
should make planetary formation nearly impossible, 
it’s not surprising that the existence of planets in 
such systems has lacked _______ explanation. 
Roman Rafikov and Kedron Silsbee shed light on 
the subject when they used modeling to determine 
a complex set of factors that could support 
planets’ development. 

Which choice completes the text with the most 
logical and precise word or phrase? 

A) a discernible 
B) a straightforward 
C) an inconclusive 
D) an unbiased 

6 

Seminole/Muscogee director Sterlin Harjo 
_______ television’s tendency to situate Native 
characters in the distant past: this rejection is evident 
in his series Reservation Dogs, which revolves around 
teenagers who dress in contemporary styles and 
whose dialogue is laced with current slang. 

Which choice completes the text with the most 
logical and precise word or phrase? 

A) repudiates 
B) proclaims 
C) foretells 
D) recants
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C) Revelations

D) Analyses

B) Pranks

they were finally recognized as ______ and deleted.

A) Enhancements

Though most hoaxes perpetrated as jokes by mischievous 

can freely edit, have quickly been detected and removed, a 
few fictitious entries, such as those for the American punk rock 
band The Deadweights and the 17th-century legislator 
Nicholas Burkhart, persisted on the site for many years before 

users of Wikipedia, an online encyclopedia that almost anyone 

Which choice completes the text with the most logical and 
precise word or phrase?

inaccurate predictions in presidential elections. But 

D) Enact

C) Supplement

B) Neglect

A) Distort

precise word or phrase?
Which choice completes the text with the most logical and 

effective.
strategists identify where their efforts are most likely to be 
predicting the winner, throughout campaigns, it helps 
election polling entirely. Polling is about more than just 
these prediction failures should not lead campaigns to ______ 
neuroscientist and election pollster Sam Wang has said that 

There are many famous examples of election pollsters making 

The following text is adapted from Virginia Woolf's 1919 novel Night 

[Katharine's] descent from [a celebrated poet] was no surprise to 

and Day. Katharine is the granddaughter of a celebrated poet.

mean?

her, but matter for satisfaction, until, as the years wore on, certain 

D) Evident

C) Expected

A) Particular

B) Involved

As used in the text, what does the word "manifest" most nearly 

discouraging to those who run the risk of comparison with him.
perhaps the conclusiveness of a great ancestor is a little 
depressing to inherit not lands but an example of intellectual virtue; 
drawbacks made themselves very manifest. Perhaps it is a little 

A) It lists the number of cities in one country, then compares 

recommendation.

locations is considered a city.
C) It describes two locations, then explains why only one of the 

many answers.
B) It poses a question, then explains why the question has 

that number to the number of cities in another country.

live there. However, not every country uses the same numbers. 

Which choice best describes the overall structure of the text?

other factors, like the number of buildings in the area.
population of 10,000. Some countries even define cities using 
400, while Greece defines a city as having a minimum 
Albania defines a city as an area with a population of at least 

countries define an area as a city based on how many people 
What is a city? The answer depends on where you live! Many 

D) It offers a recommendation, then provides reasons for that 
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7 

In 2007, computer scientist Luis von Ahn was 
working on converting printed books into a digital 
format. He found that some words were distorted 
enough that digital scanners couldn’t recognize 
them, but most humans could easily read them. 
Based on that finding, von Ahn invented a simple 
security test to keep automated “bots” out of 
websites. The first version of the reCAPTCHA test 
asked users to type one known word and one of the 
many words scanners couldn’t recognize. Correct 
answers proved the users were humans and added 
data to the book-digitizing project. 

Which choice best states the main purpose of the 
text? 

A) To discuss von Ahn’s invention of reCAPTCHA 
B) To explain how digital scanners work 
C) To call attention to von Ahn’s book-digitizing 

project 
D) To indicate how popular reCAPTCHA is 

8 

The following text is from Edith Wharton’s 1905 
novel The House of Mirth. Lily Bart and a companion 
are walking through a park. 

Lily had no real intimacy with nature, but she 
had a passion for the appropriate and could be 
keenly sensitive to a scene which was the fitting 
background of her own sensations. The 
landscape outspread below her seemed an 
enlargement of her present mood, and she found 
something of herself in its calmness, its breadth, 
its long free reaches. On the nearer slopes the 
sugar-maples wavered like pyres of light; lower 
down was a massing of grey orchards, and here 
and there the lingering green of an oak-grove. 

Which choice best describes the function of the 
underlined sentence in the text as a whole? 

A) It creates a detailed image of the physical setting 
of the scene. 

B) It establishes that a character is experiencing an 
internal conflict. 

C) It makes an assertion that the next sentence then 
expands on. 

D) It illustrates an idea that is introduced in the 
previous sentence.
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A team of researchers discovered that Matabele ants can 
identify an infected wound in a member of the colony and 

proposes a solution to address the issue.

the research methods used in the study.
D) It introduces a study of Matabele ants and then explains 

speculates on how those properties evolved.
C) It describes unique properties of Matabele ants and then 

then identifies an area for further research.
B) It summarizes research findings on Matabele ants and 

A) It identifies an issue concerning Matabele ants and then 

then treat the infection by covering the wound with 

Which choice best describes the overall structure of the text?

new antibiotics for human use.
hopeful that this discovery could aid in the development of 
injuries was reduced by 90% with this treatment, and they are 
found that the mortality rate for Matabele ants with infected 
antimicrobial secretions that the ants produce. The team 

Information in the text best supports which statement about the 

lesser extent—Central Zagros.
Cayonu Tepesi, Central Anatolia, the South Levant, and—to a 
et al. found evidence of genetic affinity among the populations of 
be attributed to imitative behavior or trade, Nefize Ezgi Alunisik 
Anatolia, and Central Zagros. Although similarities in tools could 

A) It suggests that in the Neolithic period, people in the South 

finding made by Alunisiket al?

cultural similarities.

Levant and Central Anatolia imitated tool designs originating in 

uncovered at roughly contemporaneous settlements elsewhere 

Cayonu Tepesi more frequently than people in Central Zagros 

Central Zagros.
Levant at an earlier time than they did from settlements in 
Tepesi from settlements in Central Anatolia and the South 
D) It implies that people and tools likely arrived in Cayonu 

population blending between those settlements.
found at Neolithic settlements in Southwest Asia emerged due to 
C) It raises the possibility that similarities in the design of tools 

Southwest Asia had similar tools but lacked other obvious 
B) It helps explain why contemporaneous Neolithic peoples in 

did.

in Southwest Asia, including those in the South Levant, Central 

Mesopotamian settlement of Cayonu Tepesi and those 

Archaeologists have observed similarities in the tools, such as 
bidirectional blades, uncovered at the Neolithic-period 
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9 

A study by a team including finance professor 
Madhu Veeraraghavan suggests that exposure to 
sunshine during the workday can lead to overly 
optimistic behavior. Using data spanning from 1994 
to 2010 for a set of US companies, the team 
compared over 29,000 annual earnings forecasts 
to the actual earnings later reported by those 
companies. The team found that the greater the 
exposure to sunshine at work in the two weeks before 
a manager submitted an earnings forecast, the more 
the manager’s forecast exceeded what the company 
actually earned that year. 

Which choice best states the function of the 
underlined sentence in the overall structure of the 
text? 

A) To summarize the results of the team’s analysis 
B) To present a specific example that illustrates the 

study’s findings 
C) To explain part of the methodology used in the 

team’s study 
D) To call out a challenge the team faced in 

conducting its analysis 

10 

The following text is adapted from Edith Nesbit’s 
1906 novel The Railway Children. 

Mother did not spend all her time in paying dull 
[visits] to dull ladies, and sitting dully at home 
waiting for dull ladies to pay [visits] to her. She 
was almost always there, ready to play with the 
children, and read to them, and help them to do 
their home-lessons. Besides this she used to write 
stories for them while they were at school, and 
read them aloud after tea, and she always made 
up funny pieces of poetry for their birthdays and 
for other great occasions. 

According to the text, what is true about Mother? 

A) She wishes that more ladies would visit her. 
B) Birthdays are her favorite special occasion. 
C) She creates stories and poems for her children. 
D) Reading to her children is her favorite activity. 

11 

The following text is from Maggie Pogue Johnson’s 
1910 poem “Poet of Our Race.” In this poem, the 
speaker is addressing Paul Laurence Dunbar, a Black 
author. 

Thou, with stroke of mighty pen,
 Hast told of joy and mirth, 
And read the hearts and souls of men
 As cradled from their birth. 
The language of the flowers,
 Thou hast read them all, 
And e’en the little brook
 Responded to thy call. 

Which choice best states the main purpose of the 
text? 

A) To praise a certain writer for being especially 
perceptive regarding people and nature 

B) To establish that a certain writer has read 
extensively about a variety of topics 

C) To call attention to a certain writer’s careful and 
elaborately detailed writing process 

D) To recount fond memories of an afternoon spent 
in nature with a certain writer
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porch."
D) The stories are told during "Summer nights on the front 

C) Dark shadows "cross and recross / Aunt Sue's stories."

flow of old Aunt Sue's voice, / Mingle themselves softly."

of her own life."
stories out of any book at all. / But that they came / Right out 
A) A listening child "knows that Aunt Sue / Never got her 

Sue's Stories" to illustrate the claim?
Which choice most effectively uses a quotation from "Aunt 

that ______
tells are based on Aunt Sue's personal experiences, saying 
the poem, the speaker indicates that the stories Aunt Sue 
Aunt Sue's Stories" is a 1926 poem by Langston Hughes. In 

B) The people in the stories "Mingle themselves softly / In the 

Appeal to My Countrywomen")

D) "God help our native land, / Bring success to her strife, / 

C) "Say not the age is hard and cold—/ I think it brave and 
grand: / When men of diverse sects and creeds / Are 
clasping hand in hand," (from "The Present Age")

And 
shower from thy hand / A more abundant life." (from "God 

B) "When ye plead for the wrecked and fallen, / The exile 

them in anger and hate, / But surely the mills of God's justice 
A) "Men may tread down the poor and lowly, / May crush 

claim?
Which quotation from Poems most effectively illustrates the 

receive divine judgment for it, saying, ______
those who mistreat people with less privilege will eventually 
Harper. In one of Harper's poems, the speaker suggests that 
Poems is an 1895 collection of poetry by Frances E.W. 

/ Will grind out the grist of their fate," (from "An Appeal to My 
Countrywomen")

from far-distant shores, / Remember that men are still 
wasting / Life's crimson around your own doors." (from "An 

Bless Our Native Land") ​

The first modern public zoo opened at the height of the 
French Revolution in 1793. Located in downtown Paris, the 

D) from,

C) from:

B) from

A) from;

conventions of standard English?

the private collections of French aristocrats.
filled with living animals that had been confiscated ______ 
zoo was called the Menagerie du Jardin des Plantes. It was 

Which choice completes the text so that it conforms to the 

While some computer scientists, such as Michael Running 

C) fear

Wolf, are optimistic about the use of large language models 
(LLMs) to preserve endangered Indigenous languages, 
researchers like Aliya Bhatia of the Center for Democracy and 

English-based LLMs may do more harm than good, given their 
propensity for error.
Which choice completes the text so that it conforms to the 
conventions of Standard English?

A) fears

B) has feared

Technology ______ that from an archival standpoint, 

D) is fearful
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12 

“To You” is an 1856 poem by Walt Whitman. In the 
poem, Whitman suggests that readers, whom he 
addresses directly, have not fully understood 
themselves, writing, _______ 

Which quotation from “To You” most effectively 
illustrates the claim? 

A) “You have not known what you are, you have 
slumber’d upon yourself / all your life, / Your 
eyelids have been the same as closed most of the 
time.” 

B) “These immense meadows, these interminable 
rivers, you are immense / and interminable as 
they.” 

C) “I should have made my way straight to you long 
ago, / I should have blabb’d nothing but you, I 
should have chanted nothing / but you.” 

D) “I will leave all and come and make the hymns of 
you, / None has understood you, but I 
understand you.” 

13 

Born in 1891 to a Quechua-speaking family in the 
Andes Mountains of Peru, Martín Chambi is today 
considered to be one of the most renowned figures of 
Latin American photography. In a paper for an art 
history class, a student claims that Chambi’s 
photographs have considerable ethnographic 
value—in his work, Chambi was able to capture 
diverse elements of Peruvian society, representing his 
subjects with both dignity and authenticity. 

Which finding, if true, would most directly support 
the student’s claim? 

A) Chambi took many commissioned portraits of 
wealthy Peruvians, but he also produced 
hundreds of images carefully documenting the 
peoples, sites, and customs of Indigenous 
communities of the Andes. 

B) Chambi’s photographs demonstrate a high level 
of technical skill, as seen in his strategic use of 
illumination to create dramatic light and shadow 
contrasts. 

C) During his lifetime, Chambi was known and 
celebrated both within and outside his native 
Peru, as his work was published in places like 
Argentina, Spain, and Mexico. 

D) Some of the peoples and places Chambi 
photographed had long been popular subjects 
for Peruvian photographers.
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Which choice completes the text so that it conforms to the 

campaign to secure voting rights for U.S. women.

As a leader of the National Woman Suffrage Association in the 
late 1800s, Olympia Brown of ______ an important role in the 

conventions of Standard English?

D) Connecticut; played

C) Connecticut; played

A) Connecticut. Played

B) Connecticut played

A) As a result,

Which choice completes the text with the most logical 
transition?

C) In conclusion,

D) On the other hand,

semitruck encounters more wind resistance, making it less 
aerodynamic.

Generally, sleek vehicles are more aerodynamic than bulkier 
ones. For example, the streamlined nose of the T-38 Talon jet 

B) Specifically,

helps it glide through wind with relative ease. ______ a boxy 

lucidum mushrooms.

A team led by Portuguese researcher Isabel C.F.R. Ferreira 
found that many species of mushrooms contain chemicals 
called phenolic compounds, such as protocatechuic acid and 
biochanin. ______ Ferreira detected protocatechuic acid in 
Agaricus bisporus mushrooms and biochanin in Ganoderma 

Which choice completes the text with the most logical 
transition?

A) Nevertheless,

B) However,

C) For this reason,

D) For example,

the notes to accomplish this goal?

C) The horsehair stickball collar (innuchi) was made in 2016.
B) Included in the Hina Hanta online archive is a clay cup.
A) The Choctaw name for the clay cup is isht ishko.
from the notes to accomplish this goal?
archive. Which choice most effectively uses relevant information 
The student wants to make a generalization about the Hina Hanta 

plants. Which choice most effectively uses relevant information from 

found in Oahu, Hawaii, only the former plant is native.

A) Seeds from Clermontia kakeana and Ardisia elliptica plants were 
found in the fecal samples of non-native Hawaiian birds, according 
to a 2019 study.

The student wants to emphasize a difference between the two 

B) A 2019 study catalogued plant seeds found in bird fecal samples 
in Oahu, Hawaii, to determine what role non-native birds play in 
seed dispersal.

C) Most plant species found in Oahu, Hawaii, like Ardisia elliptica, 
are non-native.

D) Though Clermontia kakeana and Ardisia elliptica can both be 

D) Not all artifacts in the Hina Hanta archive are from the 1800s.

:
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16 

In the mountains of Brazil, Barbacenia tomentosa 
and Barbacenia macrantha—two plants in the 
Velloziaceae family—establish themselves on soilless, 
nutrient-poor patches of quartzite rock. Plant 
ecologists Anna Abrahão and Patricia de Britto Costa 
used microscopic analysis to determine that the roots 
of B. tomentosa and B. macrantha, which grow 
directly into the quartzite, have clusters of fine hairs 
near the root tip; further analysis indicated that these 
hairs secrete both malic and citric acids. The 
researchers hypothesize that the plants depend on 
dissolving underlying rock with these acids, as the 
process not only creates channels for continued 
growth but also releases phosphates that provide the 
vital nutrient phosphorus. 

Which finding, if true, would most directly support 
the researchers’ hypothesis? 

A) Other species in the Velloziaceae family are 
found in terrains with more soil but have root 
structures similar to those of B. tomentosa and 
B. macrantha. 

B) Though B. tomentosa and B. macrantha both 
secrete citric and malic acids, each species 
produces the acids in different proportions. 

C) The roots of B. tomentosa and B. macrantha 
carve new entry points into rocks even when 
cracks in the surface are readily available. 

D) B. tomentosa and B. macrantha thrive even when 
transferred to the surfaces of rocks that do not 
contain phosphates. 

17 

Herbivorous sauropod dinosaurs could grow more 
than 100 feet long and weigh up to 80 tons, and some 
researchers have attributed the evolution of 
sauropods to such massive sizes to increased plant 
production resulting from high levels of atmospheric 
carbon dioxide during the Mesozoic era. However, 
there is no evidence of significant spikes in carbon 
dioxide levels coinciding with relevant periods in 
sauropod evolution, such as when the first large 
sauropods appeared, when several sauropod lineages 
underwent further evolution toward gigantism, or 
when sauropods reached their maximum known 
sizes, suggesting that _______ 

Which choice most logically completes the text? 

A) fluctuations in atmospheric carbon dioxide 
affected different sauropod lineages differently. 

B) the evolution of larger body sizes in sauropods 
did not depend on increased atmospheric carbon 
dioxide. 

C) atmospheric carbon dioxide was higher when the 
largest known sauropods lived than it was when 
the first sauropods appeared. 

D) sauropods probably would not have evolved to 
such immense sizes if atmospheric carbon 
dioxide had been even slightly higher.
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had been ingested by the bats germinated.

C) The team of researchers tested the germination of 125 
Piper sancti-felicis seeds that had been ingested by chestnut 
short-tailed bats and 125 Piper sancti-felicis seeds that had 
not been ingested.

D) Research by J.E. López and C. Vaughan revealed that 82 
of 125 — that is, 66% — of the Piper sancti-felicis seeds that 

seeds ingested by bats germinated than those that had not 
B) In the study, a lower percentage of Piper sancti-jelicis 

been ingested by bats.

While researching a topic, a student has taken the following 

short-tailed bats.

of chestnut short-tailed bats ingestion on Piper sancti-felicis 
A) J.E. López and C. Vaughan wanted to explore the effects 

information from the notes to accomplish this goal?
methodology. Which choice most effectively uses relevant 
The student wants to describe the study’s research 

Of these, 88 seeds (70%) germinated.

sancti-felicis seeds that had not been ingested by chestnut 

notes:

As a control, J.E. López and C. Vaughan tested 125 Piper 
Of these, 82 seeds (66%) germinated.
that had been ingested by chestnut short-tailed bats.
The team of researchers tested 125 Piper sancti-felicis seeds 
germination of Piper sancti-felicis seeds in Costa Rica.
wanted to explore the effects of ingestion by bats on the 
In a 2004 study, researchers Jorge E. López and C. Vaughan 

seed germination.

uninterrupted broadcasts of ordinary events in real time.

While researching a topic, a student has taken the following 

Myrdal station down to Flåm, Hihna 247 depicts a supermarket 

station down to Flåm.
documentary program documenting a train ride from Myrdal 
Flåmsbana: Minutt for Minutt, a 1-hour Norwegian TV 
D) A prime example of the slow TV genre can be seen in 

hour.

C) Compared to the 12-hour-long Hihna 247, the slow TV 

programs in the slow TV genre.
Minutt for Minutt and Hihna 247 are both documentary 
B) Documenting ordinary events in real time, Flåmsbana: 

checkout aisle of the Prisma Kaari grocery store.

A) While Flåmsbana: Minutt for Minutt depicts a train ride from 

notes:

information from the notes to accomplish this goal?

The student wants to emphasize a similarity between the two 

Kaari grocery store.
It documented a supermarket checkout aisle of the Prisma 
program that aired in 2017.
Hihna 247 (running time: 12 hours) is a Finnish slow TV 
It documented a train ride from Myrdal station down to Flåm.
Norwegian slow TV program that aired in 2010.
Flåmsbana: Minutt for Minutt (running time: 1 hour) is a 

Documentary TV programs in the slow TV genre consist of 

program Flåmsbana: Minutt for Minutt is relatively short, at 1 

TV programs. Which choice most effectively uses relevant 

Compiled by @marifatjamal @marstiff_uz
Extracted from a file on @D7SAT

Marifat Jamal

Marifat Jamal

Marifat Jamal

Marifat Jamal

Marifat Jamal



18 

In documents called judicial opinions, judges explain 
the reasoning behind their legal rulings, and in those 
explanations they sometimes cite and discuss 
historical and contemporary philosophers. Legal 
scholar and philosopher Anita L. Allen argues that 
while judges are naturally inclined to mention 
philosophers whose views align with their own 
positions, the strongest judicial opinions consider 
and rebut potential objections; discussing 
philosophers whose views conflict with judges’ views 
could therefore _______ 

Which choice most logically completes the text? 

A) allow judges to craft judicial opinions without 
needing to consult philosophical works. 

B) help judges improve the arguments they put 
forward in their judicial opinions. 

C) make judicial opinions more comprehensible to 
readers without legal or philosophical training. 

D) bring judicial opinions in line with views that are 
broadly held among philosophers. 

19 

Public-awareness campaigns about the need to 
reduce single-use plastics can be successful, says 
researcher Kim Borg of Monash University in 
Australia, when these campaigns give consumers a 
choice: for example, Japan achieved a 40 percent 
reduction in plastic-bag use after cashiers were 
instructed to ask customers whether _______ 
wanted a bag. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) they 
B) one 
C) you 
D) it 

20 

In ancient Greece, an Epicurean was a follower of 
Epicurus, a philosopher whose beliefs revolved 
around the pursuit of pleasure. Epicurus defined 
pleasure as “the absence of pain in the body and of 
trouble in the _______ that all life’s virtues derived 
from this absence. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) soul,” positing 
B) soul”: positing 
C) soul”; positing 
D) soul.” Positing 

21 

British scientists James Watson and Francis Crick 
won the Nobel Prize in part for their 1953 paper 
announcing the double helix structure of DNA, but it 
is misleading to say that Watson and Crick 
discovered the double helix. _______ findings were 
based on a famous X-ray image of DNA fibers, 
“Photo 51,” developed by X-ray crystallographer 
Rosalind Franklin and her graduate student 
Raymond Gosling. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) They’re 
B) It’s 
C) Their 
D) Its

...............................................................................................................................................................................................................................................................................................................
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Text corpora such as the Brown Corpus are enormous 
collections of electronically stored texts that can be used for 
empirical testing of hypotheses regarding the frequency of 
typical word usage. For example, a linguist who assumes that 
the word “know” appears quite often in written English could 
______ that assumption with data from a corpus: “know” is 
the eighth most commonly used verb.

Which choice completes the text with the most logical and 
precise word or phrase?

A) substantiate

B) entail

C) transpose

D) refute

A) stipulate

Gertrude Ederle, who was the first woman to swim across the 
English Channel, and Wanda Rutkiewicz, who was the first 
woman to summit K2 (the second tallest mountain in the 
world), are ensured lasting places in our historical memory. No 
matter what others may do in the future, nobody can ever 
______ these women as the first to accomplish these feats.

Which choice completes the text with the most logical and 
precise word or phrase?

B) induce

C) supplant

D) engender

Little did I realize when in 1845 I wrote, while in the Morrison 

and up the Hudson,” that I was to see New York in reality. 
School, a composition on “An Imaginary Voyage to New York 

Which choice best describes the function of the underlined 

China to graduate from a US university.
in China and America. Yung Wing was the first person from 
The following text is from Yung Wing’s 1909 memoir My Life 

imagination foreshadows what lies uppermost in our minds 
This incident leads me to the reflection that sometimes our 

and brings possibilities within the sphere of realities.

A) It indicates Yung’s unwillingness to distinguish between 
reality and fantasy as a child.

B) It foreshadows Yung’s future difficulties in publishing his 
writings.

C) It describes an event in Yung’s life that exemplifies a 
phenomenon.

D) It illustrates the sense of adventure that Yung developed 
as a child.

sentence in the text as a whole?

C) that they employ

Which choice completes the text so that it conforms to the 

B) employed

A) are employed

conventions of Standard English?

An emulsifier is a type of compound that serves to stabilize 

formulations, like lotions and perfumes.
______ to blend oil and water into homogeneous 
industry, emulsifiers such as cetyl hydroxyethylcellulose 
otherwise would not easily blend together. In the cosmetics 
an emulsion — a mixture of two or more liquids that 

D) being employed
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In 1937, Chinese American screen actor Anna May 
Wong, who had portrayed numerous villains and 
secondary characters but never a heroine, finally got 
a starring role in Paramount Pictures’ Daughter of 
Shanghai, a film that _______ “expanded the range 
of possibilities for Asian images on screen.” 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) critic, Stina Chyn, claims 
B) critic, Stina Chyn, claims, 
C) critic Stina Chyn claims 
D) critic Stina Chyn, claims, 

23 

In 1637, the price of tulips skyrocketed in 
Amsterdam, with single bulbs of rare varieties 
selling for up to the equivalent of $200,000 in today’s 
US dollars. Some historians _______ that this “tulip 
mania” was the first historical instance of an asset 
bubble, which occurs when investors drive prices to 
highs not supported by actual demand. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) claiming 
B) claim 
C) having claimed 
D) to claim 

24 

Researchers studying magnetosensation have 
determined why some soil-dwelling roundworms in 
the Southern Hemisphere move in the opposite 
direction of Earth’s magnetic field when searching 
for _______ in the Northern Hemisphere, the 
magnetic field points down, into the ground, but in 
the Southern Hemisphere, it points up, toward the 
surface and away from worms’ food sources. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) food: 
B) food, 
C) food while 
D) food 

25 

Scientists believe that, unlike most other species of 
barnacle, turtle barnacles (Chelonibia testudinari) 
can dissolve the cement-like secretions they use to 
attach _______ to a sea turtle shell, enabling the 
barnacles to move short distances across the shell’s 
surface. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) it 
B) themselves 
C) them 
D) itself
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Proto-Nilotic is a hypothesized ancestor of the Nilotic family of 
languages, and, as such, its theoretical linguistic properties 
______ those traits common among its fifty-five Nilotic 
descendants, traits identified and compiled by way of 
comparative analyses.

conventions of Standard English?
Which choice completes the text so that it conforms to the 

A) having reflected

C) reflecting

D) that reflect

B) reflect

was ______ analyzed geotagged social media posts from 

The parks of Dallas, Texas, seem to be making people 
happier. In a 2022 study, researchers studying connections 
between the physical location in which a social media post 

Which choice completes the text so that it conforms to the 

various locations in Dallas. They found that posts from the 
city’s parks contained more words associated with happiness 
than other posts did.

conventions of Standard English?

A) created, and the post’s content

B) created and the post’s content

C) created, and the post’s content,

D) created and the post’s content

Kyudo, a form of archery that originated in Japan, was not a 

demonstration sport. Demonstration sports have been 

medal sport at the 1964 Tokyo Summer Olympic Games. 
______ kyudo was featured at the Games as a 

featured at past Olympics to showcase lesser-known or 

D) For example,

regionally significant sports.

Which choice completes the text with the most logical 
transition?

B) Rather,

C) Additionally,

A) Thus,

pseudonymous political essays published in the years 

As can be seen in the case of “Publius” — a pseudonym 
adopted by a trio of writers that included Alexander Hamilton 
— historians have deduced the likely authorship of many 

D) for example,

following the American Revolutionary War; pen names such 

elusive as they once were to eighteenth-century audiences.

Which choice completes the text with the most logical 
transition?

A) indeed,

B) though,

C) likewise,

as “Democritus” and “Obadiah Spriggins,” ______ remain as 

,
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The classic children’s board game Chutes and 
Ladders is a version of an ancient Nepalese game, 
Paramapada Sopanapata. In both games, players 
encounter “good” or “bad” spaces while traveling 
along a path; landing on one of the good spaces 
_______ a player to skip ahead and arrive closer to 
the end goal. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) allows 
B) are allowing 
C) have allowed 
D) allow 

27 

In 1943, in the midst of World War II, mathematics 
professor Grace Hopper was recruited by the 
US military to help the war effort by solving complex 
equations. Hopper’s subsequent career would involve 
more than just _______ as a pioneering computer 
programmer, Hopper would help usher in the digital 
age. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) equations, though: 
B) equations, though, 
C) equations. Though, 
D) equations though 

28 

In 1453, English King Henry VI became unfit to rule 
after falling gravely ill. As a result, Parliament 
appointed Richard, Third Duke of York, who had a 
strong claim to the English throne, to rule as Lord 
Protector. Upon recovering two years later, _______ 
forcing an angered Richard from the royal court and 
precipitating a series of battles later known as the 
Wars of the Roses. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) Henry resumed his reign, 
B) the reign of Henry resumed, 
C) Henry’s reign resumed, 
D) it was Henry who resumed his reign, 

29 

Although novels and poems are considered distinct 
literary forms, many authors have created hybrid 
works that incorporate elements of both. Bernardine 
Evaristo’s The Emperor's Babe, _______ is a verse 
novel, a book-length narrative complete with 
characters and a plot but conveyed in short, crisp 
lines of poetry rather than prose. 

Which choice completes the text with the most 
logical transition? 

A) by contrast, 
B) consequently, 
C) secondly, 
D) for example,
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sancti-felicis seeds that had been ingested by chestnut 

A) J.E. López and C. Vaughan wanted to explore the effects of 
chestnut short-tailed bats ingestion on Piper sancti-felicis seed 
germination.

ingested by bats germinated than those that had not been 
ingested by bats.

C) The team of researchers tested the germination of 125 Piper 

been ingested.
short-tailed bats and 125 Piper sancti-felicis seeds that had not 

methodology. Which choice most effectively uses relevant 

D) Research by J.E. López and C. Vaughan revealed that 82 of 
125—that is, 66%—of the Piper sancti-felicis seeds that had 
been ingested by the bats germinated.

information from the notes to accomplish this goal?

B) In the study, a lower percentage of Piper sancti-jelicis seeds 

The student wants to describe the study's research 

germination of Piper sancti-felicis seeds in Costa Rica.

Of these, 88 seeds (70%) germinated.

While researching a topic, a student has taken the following 
notes:

In a 2004 study, researchers Jorge E. López and C. Vaughan 
wanted to explore the effects of ingestion by bats on the 

The team of researchers tested 125 Piper sancti-felicis seeds 
that had been ingested by chestnut short-tailed bats.
Of these, 82 seeds (66%) germinated.
As a control, J.E. López and C. Vaughan tested 125 Piper 
sancti-felicis seeds that had not been ingested by chestnut 
short-tailed bats.

Fodorian modularity is not as expansive in its definition of 

mind is composed of innate neural structures.
hypothesis, disagreeing with Fodor's earlier hypothesis that the 
D) In 2003, Carruthers proposed the massive modularity 

and language, modular.
they consider low-level cognitive systems, such as perception 
C) The hypotheses of Fodor and Carruthers differ in whether 

modularity of mind includes all cognitive systems.
B) Following Fodor's 1983 hypothesis, Carruthers proposed that 

modularity as MMH is.

composed of innate neural structures (modules) that perform 

A) In considering some but not all cognitive systems modular, 

notes:

fast, necessary tasks.
1983: Cognitive scientist Jerry A. Fodor hypothesized that 

While researching a topic, a student has taken the following 

information from the notes to accomplish this goal?

low-level cognitive systems (e.g., perception, language) are 
modular.
In Fodorian modularity, high-level systems (e.g., reasoning) are 
not modular.
2003: Cognitive scientist Peter Carruthers proposed the 
massive modularity hypothesis (MMH).
MMH expands modularity to include all cognitive systems.

The student wants to compare Fodor's hypothesis with 
Carruthers's. Which choice most effectively uses relevant 

Modularity of mind is the notion that the mind is at least partly 
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Module 
2 

Reading and Writing 
33 Q U E S T I O N S 

DIRECTIONS 

The questions in this section address a number of important reading and writing skills. Each 
question includes one or more passages, which may include a table or graph. Read each passage 
and question carefully, and then choose the best answer to the question based on the passage(s). 
All questions in this section are multiple-choice with four answer choices. Each question has a 
single best answer. 

1 

For painter Jacob Lawrence, being _______ was an 
important part of the artistic process. Because he 
paid close attention to all the details of his Harlem 
neighborhood, Lawrence’s artwork captured nuances 
in the beauty and vitality of the Black experience 
during the Harlem Renaissance and the 
Great Migration. 

Which choice completes the text with the most 
logical and precise word or phrase? 

A) skeptical 
B) observant 
C) critical 
D) confident 

2 

Mônica Lopes-Ferreira and others at Brazil’s 
Butantan Institute are studying the freshwater 
stingray species Potamotrygon rex to determine 
whether biological characteristics such as the rays’ 
age and sex have _______ effect on the toxicity of 
their venom—that is, to see if differences in these 
traits are associated with considerable variations in 
venom potency. 

Which choice completes the text with the most 
logical and precise word or phrase? 

A) a disconcerting 
B) an acceptable 
C) an imperceptible 
D) a substantial

Because cyanobacteria and other microphytobenthos (MPB) 
 - - microscopic organisms inhabiting tidal flats  - - are 

stressors, thus has a direct, negative impact on coastal food 

D) interchangeable with

C) subordinate to

B) emblematic of

A) imperative for

precise word or phrase?
Which choice completes the text with the most logical and 

webs.

abundance, which may be caused by environmental 
fish, MPB are estuary ecosystems. Decreased MPB 
consumed by mussels as well as by certain shorebirds and 

B) omit

D) evade

C) support

A) refute

precise word or phrase?
Which choice completes the text with the most logical and 

listener has misunderstood the piece.
the result of inattention, it is difficult to justify the claim that the 
and so long as a listener’s interpretation isn’t willfully absurd or 
different interpretations as there are people to listen to them  - - 
compositions of Charlotte Moorman can ______ as many 
Some pieces of music might have many meanings  - - the 
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3 

Researchers have struggled to pinpoint specific 
causes for hiccups, which happen when a 
person’s diaphragm contracts _______ . However, 
neuroscientist Kimberley Whitehead has found that 
these uncontrollable contractions may play an 
important role in helping infants regulate their 
breathing. 

Which choice completes the text with the most 
logical and precise word or phrase? 

A) involuntarily 
B) beneficially 
C) strenuously 
D) smoothly 

4 

Critics have asserted that fine art and fashion rarely 
_______ in a world where artists create timeless 
works for exhibition and designers periodically 
produce new styles for the public to buy. Luiseño/
Shoshone-Bannock beadwork artist and designer 
Jamie Okuma challenges this view: her work can be 
seen in the Metropolitan Museum of Art and 
purchased through her online boutique. 

 

Which choice completes the text with the most 
logical and precise word or phrase? 

A) prevail 
B) succumb 
C) diverge 
D) intersect 

5 

Scholarly discussions of gender in Shakespeare’s 
comedies often celebrate the rebellion of the 
playwright’s characters against the rigid expectations 
_______ by Elizabethan society. Most of the 
comedies end in marriage, with characters returning 
to their socially dictated gender roles after previously 
defying them, but there are some notable exceptions. 

Which choice completes the text with the most 
logical and precise word or phrase? 

A) interjected 
B) committed 
C) illustrated 
D) prescribed 

6 

In studying the use of external stimuli to reduce the 
itching sensation caused by an allergic histamine 
response, Louise Ward and colleagues found that 
while harmless applications of vibration or warming 
can provide a temporary distraction, such _______ 
stimuli actually offer less relief than a stimulus that 
seems less benign, like a mild electric shock. 

Which choice completes the text with the most 
logical and precise word or phrase? 

A) deceptive 
B) innocuous 
C) novel 
D) impractical
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Hawai’i, the language of the native Hawaiian people, has one 
fewer, while the global median per language is over 
twenty-two.

Which choice completes the text with the most logical and 
precise word or phrase?

B) static

C) replicable

D) melodic

languages of the Pacific tend toward the ______: Sikaiana in 
the South Pacific has a total of nine consonants, and Olelo 

A) minimal

The inventories of consonant sounds among the Polynesian 

US-based institutions devoted to Latino cultures include Casa 
objects for its permanent collection. More recently founded 
States. Since its founding, it has acquired more than 1,300 
art by Latin American artists and Latino artists in the United 
Latin American Art is dedicated to modern and contemporary 
Founded in Long Beach, California, in 1996, the Museum of 

arts and cultures of Latino communities in Michigan.
de Rosado. Located in Lansing, Michigan, it focuses on the 

Which choice best states the main purpose of the text?

founding of two institutions

B) To trace the founding of two institutions, including how 
they 
acquired funding to purchase artworks

C) To present information about two institutions, including 
each institution’s area of focus

D) To draw a contrast between the collection sizes of two 
institutions

A) To trace a historical development that encouraged the 

Thy warm and land-locked waters swell with an easy motion.

The following text is adapted from D.A. Lozano’s 1844 poem 
“A Remembrance of Puerto Cabello  - - The Mangle” 
(translated by Agnes Blake Poor in 1918). The poem is a 
dedication to Puerto Cabello, a town on the northern coast of 
Venezuela.

And while outside the tempest is raving o'er the ocean,
And the ship is madly driving on some lone and desert shore;

A) It describes the speaker’s attitude towards the day-to-day 

And gently glides the light pirogue [canoe] at dipping of the 
oar.

Which choice best states the main purpose of the text?

life in Puerto Cabello.

Cabello with the roughness of waters elsewhere.

C) It emphasizes the severity of a storm that is expected to 
arrive soon in Puerto Cabello.

D) It compares the appearance of two types of boats.

B) It contrasts the tranquility of the waters near Puerto 

A) The narrator contrasts his feelings of apprehension with the 

countryside.

The following text is adapted from Guy de Maupassant’s 1884 
short story “A Recollection,” from the collection Guy de 
Maupassant Short Stories (translated by Albert M.C., McMaster 
et al. in 1903). The narrator is taking a boat down the Seine river 
from Paris, France, to the surrounding countryside.

Which choice best states the main idea of the text?

apparent tranquility of the river as the boat enters the 

B) The narrator is anxious for the trip to the countryside to be 
over as quickly as possible, and is frustrated that it is taking so 
long.

C) Though the narrator did not expect to be leaving the city on 
this trip, he is nonetheless excited to undertake this new 
adventure.

D) The narrator perceives a parallel between the shift from the 
urban environment to the countryside and the changes in the 
features of the river itself.
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The province of Xoconochco was situated on the 
Pacific coast, hundreds of kilometers southeast of 
Tenochtitlan, the capital of the Aztec Empire. 
Because Xoconochco’s location within the empire 
was so _______ , cacao and other trade goods 
produced there could reach the capital only after a 
long overland journey. 

Which choice completes the text with the most 
logical and precise word or phrase? 

A) unobtrusive 
B) concealed 
C) approximate 
D) peripheral 

8 

The following text is from Charlotte Brontë’s 1847 
novel Jane Eyre. Jane works as a governess at 
Thornfield Hall. 

I went on with my day’s business tranquilly; but 
ever and anon vague suggestions kept wandering 
across my brain of reasons why I should quit 
Thornfield; and I kept involuntarily framing 
advertisements and pondering conjectures about 
new situations: these thoughts I did not think to 
check; they might germinate and bear fruit if 
they could. 

Which choice best states the main purpose of the 
text? 

A) To convey a contrast between Jane’s outward 
calmness and internal restlessness 

B) To emphasize Jane’s loyalty to the people she 
works for at Thornfield Hall 

C) To demonstrate that Jane finds her situation 
both challenging and deeply fulfilling 

D) To describe Jane’s determination to secure 
employment outside of Thornfield Hall
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C) the effects of variations in political and economic interests 

between medieval settlements within a region than in 
comparisons between groups of settlements across regions 
of Western Europe.

D) despite regional differences in their political and economic 

differences in characteristics of urban systems had a limited 
A) even when they were substantial, known inter-regional 

on agglomeration patterns were less evident in comparisons 

medieval settlements in other regions.

across Western Europe, with groupings based on regionally 

city’s total settled area increased, so did population density in 

distinct political structures, economic focuses, and spatial 
constraints  - - including the aristocratically controlled 
city-state of Parma in northern Italy, merchant-controlled 
city-states like Goerlitz in Germany, the wool-trading centers 
of Lincoln and Canterbury in England, and prime trade fair 
towns like Troyes in France. A prevalent trend emerged: as a 

common spatial constraints that encouraged high population 

its core urban areas. This finding implies that ______

between area and population density would be found for 

Which choice most logically completes the text?

settlements. They examined settlements in urban systems 
focusing on agglomeration patterns within medieval 
urban scaling trends circa 1300 CE in Western Europe, 
Rudolf Cesaretti et al., conducted an analysis of historical 

B) the observed relationship is heavily influenced by urban 
characteristics that were particular to medieval Western 
Europe, making it unlikely that a similarly strong relationship 

systems, medieval Western European settlements shared 

effect on agglomeration patterns in medieval Western 

density in core urban areas.

European settlements.

After much debate, ______ finally made a decision: the judges 

human problems and conditions have been presented with a 

for the 1947 Nobel Prize in Literature would award André Paul 
Guillaume Gide of France with that year’s prize “for his 
comprehensive and artistically significant writings, in which 

C) they

fearless love of truth and keen psychological insight.”

Which choice completes the text so that it conforms to the 
conventions of Standard English?

A) anyone

B) you

D) it

In 1847, the novel Agnes Grey was published under the pen name 

Which choice completes the text so that it conforms to the 

A) was the author’s real name Anne Brontë?

B) the author’s real name was Anne Brontë.

C) was the author’s real name Anne Bronté

D) the author’s real name was Anne Brontë?

Acton Bell. Now, we know that ______

conventions of Standard English?
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Text 1 
Most animals can regenerate some parts of their 
bodies, such as skin. But when a three-banded 
panther worm is cut into three pieces, each piece 
grows into a new worm. Researchers are 
investigating this feat partly to learn more about 
humans’ comparatively limited abilities to 
regenerate, and they’re making exciting progress. An 
especially promising discovery is that both humans 
and panther worms have a gene for early growth 
response (EGR) linked to regeneration. 

Text 2 
When Mansi Srivastava and her team reported that 
panther worms, like humans, possess a gene for EGR, 
it caused excitement. However, as the team pointed 
out, the gene likely functions very differently in 
humans than it does in panther worms. Srivastava 
has likened EGR to a switch that activates other 
genes involved in regeneration in panther worms, 
but how this switch operates in humans remains 
unclear. 

Based on the texts, what would the author of Text 2 
most likely say about Text 1’s characterization of the 
discovery involving EGR? 

A) It is reasonable given that Srivastava and her 
team have identified how EGR functions in both 
humans and panther worms. 

B) It is overly optimistic given additional 
observations from Srivastava and her team. 

C) It is unexpected given that Srivastava and her 
team’s findings were generally met with 
enthusiasm. 

D) It is unfairly dismissive given the progress that 
Srivastava and her team have reported. 

10 

The following text is adapted from William 
Shakespeare’s 1609 poem “Sonnet 27.” The poem is 
addressed to a close friend as if he were physically 
present. 

Weary with toil, I [hurry] to my bed, 
The dear repose for limbs with travel tired; 
But then begins a journey in my head 
To work my mind, when body’s work’s expired: 
For then my thoughts—from far where I abide— 
[Begin] a zealous pilgrimage to thee, 
And keep my drooping eyelids open wide, 

What is the main idea of the text? 

A) The speaker is asleep and dreaming about 
traveling to see the friend. 

B) The speaker is planning an upcoming trip to the 
friend’s house. 

C) The speaker is too fatigued to continue a 
discussion with the friend. 

D) The speaker is thinking about the friend instead 
of immediately falling asleep.

19

in places like the Inner Gulf of Thailand and Manchar Lake in 
While the greater adjutant (Leptoptilos dubius) can be found 

______ than 80 percent of this endangered stork species is 
found in Assam, India. There, wildlife biologist Dr. Purnima 
Devi Barman is on the front lines of conservation efforts to 
bring adjutants back from near extinction.

Which choice completes the text so that it conforms to the 
conventions of Standard English?

A) Pakistan, more

B) Pakistan; more

C) Pakistan. More

D) Pakistan more

Every US state has an associated state soil, which is typically 
selected by a group of experts, then passed through the state 
legislature to receive its official designation. For example, 

D) Indeed,

B) Therefore,

A) often,

transition?
Which choice completes the text with the most logical 

process can be notoriously slow.
a soil's selection and official designation, as the legislative 
Maine's CheSuncook soil in 1999. ______ years pass between 
Arkansas's Stuttgart soil was formally designated in 1997, and 

C) Similarly,

susceptible to the spread of misinformation, often with 

A 1990 study of schooling fish observed the fish mimicking the 
behavior of school-mates rapidly swimming away from a 
predator. This is an example of an information cascade that 
benefits the collective. ______ the animal world is at times 

unfavorable results: a 2010 study of semiplamated sandpipers 
concluded that fleeing in response to flock-mates' false alarms 

D) Consequently,

caused the birds to abandon safe nesting grounds unnecessarily.

Which choice completes the text with the most logical transition?

A) In other words,

B) Conversely,

C) Indeed,

C) Catlett used relief printing to create the 1968 linocut Bread.

which is then painted and pressed onto a print surface.
D) In relief printing, an image is carved onto a printing block, 

carving an image onto linoleum tile.

The block is then painted and stamped onto a print surface.

other materials as the printing block, not just linoleum tile.
A) Relief printing is a technique that can use wood, rubber, and 

notes to accomplish this goal?

B) Catlett used a relief printing technique called lino cutting, 

The student wants to describe the process of relief printing. 

the printing block.
Lino cutting is a type of relief printing that uses linoleum tile as 

Which choice most effectively uses relevant information from the 

onto a printing block made of wood, rubber, or other materials.

It features a young girl eating a slice of bread.
artist Elizabeth Catlett.
Bread is a 1968 black-and-white linocut print by Black American 

notes:

Relief printing is a technique in which an image is first carved 

While researching a topic, a student has taken the following 
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The following text is adapted from Lewis Carroll’s 
1889 satirical novel Sylvie and Bruno. A crowd has 
gathered outside a room belonging to the Warden, 
an official who reports to the Lord Chancellor. 

One man, who was more excited than the rest, 
flung his hat high into the air, and shouted (as 
well as I could make out) “Who roar for the 
Sub-Warden?” Everybody roared, but whether it 
was for the Sub-Warden, or not, did not clearly 
appear: some were shouting “Bread!” and some 
“Taxes!”, but no one seemed to know what it was 
they really wanted. 

All this I saw from the open window of the 
Warden’s breakfast-saloon, looking across the 
shoulder of the Lord Chancellor. 

“What can it all mean?” he kept repeating to 
himself. “I never heard such shouting 
before—and at this time of the morning, too! 
And with such unanimity!” 

Based on the text, how does the Lord Chancellor 
respond to the crowd? 

A) He asks about the meaning of the crowd’s 
shouting, even though he claims to know what 
the crowd wants. 

B) He indicates a desire to speak to the crowd, even 
though the crowd has asked to speak to the 
Sub-Warden. 

C) He expresses sympathy for the crowd’s demands, 
even though the crowd’s shouting annoys him. 

D) He describes the crowd as being united, even 
though the crowd clearly appears otherwise. 

12 

O Pioneers! is a 1913 novel by Willa Cather. In the 
novel, Cather portrays Alexandra Bergson as having 
a deep emotional connection to her natural 
surroundings: _______ 

Which quotation from O Pioneers! most effectively 
illustrates the claim? 

A) “She had never known before how much the 
country meant to her. The chirping of the insects 
down in the long grass had been like the sweetest 
music. She had felt as if her heart were hiding 
down there, somewhere, with the quail and the 
plover and all the little wild things that crooned 
or buzzed in the sun. Under the long shaggy 
ridges, she felt the future stirring.” 

B) “Alexandra talked to the men about their crops 
and to the women about their poultry. She spent 
a whole day with one young farmer who had 
been away at school, and who was experimenting 
with a new kind of clover hay. She learned a 
great deal.” 

C) “Alexandra drove off alone. The rattle of her 
wagon was lost in the howling of the wind, but 
her lantern, held firmly between her feet, made a 
moving point of light along the highway, going 
deeper and deeper into the dark country.” 

D) “It was Alexandra who read the papers and 
followed the markets, and who learned by the 
mistakes of their neighbors. It was Alexandra 
who could always tell about what it had cost to 
fatten each steer, and who could guess the weight 
of a hog before it went on the scales closer than 
John Bergson [her father] himself.”
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Liechtenstein is Vaduz.
D) The capital of the Philippines is Manila; the capital of 

but the country's capital is Manila.
C) The most populous city in the Philippines is Quezon City, 

City, the most populous city in Liechtenstein is Schaan.
B) While the most populous city in the Philippines is Quezon 

not the country's most populous city.
A) In both the Philippines and Liechtenstein, the capital is 

information from the notes to accomplish this goal?
countries. Which choice most effectively uses relevant 

Its largest city by population is Schaan.

The student wants to emphasize a similarity between the two 

The capital of Liechtenstein is Vaduz.
Its largest city by population is Quezon City.

While researching a topic, a student has taken the following 

population.
The capital of the Philippines is Manila.

Usually, a country's capital is also its largest city by 

notes:

given sentences to emphasize how Wilkerson documents 

Suns won not only the Mark Lynton History Prize but also 
C) In 2011, Isabel Wilkerson's book The Warmth of Other 

Starling and Robert Pershing Foster.
the journeys of individuals, such as George Swanson 
Great Migration in such riveting, personal detail by narrating 
B) Isabel Wilkerson chronicles the complex history of the 

American populations grew during the Great Migration.
A) Detroit, Michigan, is one of the cities whose African 

the Great Migration?

Which choice most effectively uses information from the 

D) The personal journey of George Swanson Starling is 

It also won the National Book Critics Circle Award in 2011.

Foster, among others.
journeys of George Swanson Starling and Robert Pershing 
To document this period, Wilkerson narrates the personal 
the rural South to cities such as Detroit, Michigan.
history when over six million African Americans moved from 
The Great Migration was a period in twentieth-century US 

is about the Great Migration.
Historian Isabel Wilkerson's book The Warmth of Other Suns 

the National Book Critics Circle Award.

The book won the Mark Lynton History Prize in 2011.

featured in the award-winning book The Warmth of Other 
Suns.
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Approximate Rates of Speech and 
Information Conveyed for Five Languages 

Language 

Rate of speech 
(syllables 

per second) 

Rate of information 
conveyed (bits 

per second) 
Serbian 7.2 39.1 
Spanish 7.7 42.0 
Vietnamese 5.3 42.5 
Thai 4.7 33.8 
Hungarian 5.9 34.6 

A group of researchers working in Europe, Asia, and 
Oceania conducted a study to determine how quickly 
different Eurasian languages are typically spoken 
(in syllables per second) and how much information 
they can effectively convey (in bits per second). They 
found that, although languages vary widely in the 
speed at which they are spoken, the amount of 
information languages can effectively convey tends 
to vary much less. Thus, they claim that two 
languages with very different spoken rates can 
nonetheless convey the same amount of information 
in a given amount of time. 

Which choice best describes data from the table that 
support the researchers’ claim? 

A) Among the five languages in the table, Thai and 
Hungarian have the lowest rates of speech and 
the lowest rates of information conveyed. 

B) Vietnamese conveys information at 
approximately the same rate as Spanish despite 
being spoken at a slower rate. 

C) Among the five languages in the table, the 
language that is spoken the fastest is also the 
language that conveys information the fastest. 

D) Serbian and Spanish are spoken at approximately 
the same rate, but Serbian conveys information 
faster than Spanish does. 

14 

Psychologists Dacher Keltner and Jonathan Haidt 
have argued that experiencing awe—a sensation of 
reverence and wonder typically brought on by 
perceiving something grand or powerful—can enable 
us to feel more connected to others and thereby 
inspire us to act more altruistically. Keltner, along 
with Paul K. Piff, Pia Dietze, and colleagues, claims 
to have found evidence for this effect in a recent 
study where participants were asked to either gaze up 
at exceptionally tall trees in a nearby grove (reported 
to be a universally awe-inspiring experience) or stare 
at the exterior of a nearby, nondescript building. 
After one minute, an experimenter deliberately 
spilled a box of pens nearby. 

Which finding from the researchers’ study, if true, 
would most strongly support their claim? 

A) Participants who had been looking at the trees 
helped the experimenter pick up significantly 
more pens than did participants who had been 
looking at the building. 

B) Participants who helped the experimenter pick 
up the pens used a greater number of positive 
words to describe the trees and the building in a 
postexperiment survey than did participants who 
did not help the experimenter. 

C) Participants who did not help the experimenter 
pick up the pens were significantly more likely to 
report having experienced a feeling of awe, 
regardless of whether they looked at the building 
or the trees. 

D) Participants who had been looking at the 
building were significantly more likely to notice 
that the experimenter had dropped the pens than 
were participants who had been looking at the 
trees.
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notes:

The student wants to emphasize a similarity between Judeth 

Voyage to India (2002).
David Davidson played violin on her second studio album, 
Soul (2001).
Judeth Insel played viola on her first studio album, Acoustic 
Her acclaimed albums feature many talented musicians.

"blend of hip hop, soul, and folk [that is] as subtle as it [is] 
The media outlet BBC Music has described her music as a 
India Arie is an African American singer and songwriter.

While researching a topic, a student has taken the following 

relevant information from the notes to accomplish this goal?
Insel and David Davidson. Which choice most effectively uses 

A) Judeth Insel played on India Arie's first studio album, 
Acoustic Soul, which was released one year before her album 

talents to albums by India Arie in the early 2000s.
D) Judeth Insel and David Davidson both lent their musical 

violin.
Judeth Insel played viola, whereas David Davidson played 
C) Although both musicians have played on India Arie albums, 

Arie.
2002, respectively, are albums by singer and songwriter India 
B) Acoustic Soul and Voyage to India, released in 2001 and 

Voyage to India.

inspired."

B) Merle Oberon wasn't even listed in the credits of some of 

career, whereas Forever and a Day (1943) came out later.
A) Alf's Button (1930) was released early in Merle Oberon's 

goal?
uses relevant information from the notes to accomplish this 
Merle Oberon's early career. Which choice most effectively 

Marjorie Ismay in Forever and a Day (1943).

The student wants to make and support a generalization about 

nameless, uncredited role.

Later, she played many named, credited roles, such as 
roles, such as her role in Alf's Button (1930).
Early in her career, she played many nameless, uncredited 

She was the first Indian-born actress to be nominated for an 
She was of Indian, Maori, and Irish heritage.
(then known as Bombay), India.
Merle Oberon (1911-1979) was an actress born in Mumbai 

notes:
While researching a topic, a student has taken the following 

her early films, such as Alf's Button (1930), where she played a 

D) In Alf's Button (1930), actress Merle Oberon played a 

C) Alf's Button and Forever and a Day are both films that 
include Merle Oberon.

nameless, uncredited role.

Academy Award.
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Many archaeologists will tell you that categorizing 
excavated fragments of pottery by style, period, 
and what objects they belong to relies not only on 
standard criteria, but also on instinct developed 
over years of practice. In a recent study, however, 
researchers trained a deep-learning computer model 
on thousands of images of pottery fragments and 
found that it could categorize them as accurately as a 
team of expert archaeologists. Some archaeologists 
have expressed concern that they might be replaced 
by such computer models, but the researchers claim 
that outcome is highly unlikely. 

Which finding, if true, would most directly support 
the researchers’ claim? 

A) In the researchers’ study, the model was able to 
categorize the pottery fragments much more 
quickly than the archaeologists could. 

B) In the researchers’ study, neither the model nor 
the archaeologists were able to accurately 
categorize all the pottery fragments that were 
presented. 

C) A survey of archaeologists showed that 
categorizing pottery fragments limits the amount 
of time they can dedicate to other important 
tasks that only human experts can do. 

D) A survey of archaeologists showed that few of 
them received dedicated training in how to 
properly categorize pottery fragments. 

17 

Although military veterans make up a small 
proportion of the total population of the 
United States, they occupy a significantly higher 
proportion of the jobs in the civilian government. 
One possible explanation for this disproportionate 
representation is that military service familiarizes 
people with certain organizational structures that are 
also reflected in the civilian government bureaucracy, 
and this familiarity thus _______ 

Which choice most logically completes the text? 

A) makes civilian government jobs especially 
appealing to military veterans. 

B) alters the typical relationship between military 
service and subsequent career preferences. 

C) encourages nonveterans applying for civilian 
government jobs to consider military service 
instead. 

D) increases the number of civilian government jobs 
that require some amount of military experience 
to perform.
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America and Western Europe, partly due to limited data 

D) presuppose

C) categorize

B) mitigate

A) validate

precise word or phrase?
Which choice completes the text with the most logical and 

Europe, such as Russia.
nations in South America, such as Brazil and Eastern 
after gaining new access to administrative records located in 
availability. Researchers would later ______ this shortcoming 

suffered from a myopic focus on a few countries in North 
research on income inequality performed in the 2010s 
Despite stated claims of global relevance, much major 

induces not somnolence but ______

A) fortitude

does not always cause sleep: boredom creates an anxious 
audiences. This might suggest his films are boring, but boredom 
Lives) even states that his own work induces sleep in 
Weerasethakul (Uncle Boonmee Who Can Recall His Past 
slow-cinema films. Thai slow-cinema director Apichatpong 
Andrei Tarkovsky's Solaris has the measured pace typical of 

Which choice completes the text with the most logical and 
precise word or phrase?

B) perturbation

C) nonchalance

D) indolence

tension in the absence of a place to fix attention, and thus 

precise word or phrase?
Which choice completes the text with the most logical and 

utilizing infrared technology.
aggregate, but Max Anderson et al, have addressed this by 

Volrcella bombylians, have resulted in ______ of information on 
general focus on diurnal invertebrate pollinators, such as 
Difficulties of documenting nocturnal pollinator visits and a 

A) an abatement

B) an aggregation

C) a dearth

D) a dissonance

nocturnal moth pollination of plants such as Rubus futilcosus L. 

The Hundred Days, first published in 1998, is a novel in Patrick 
O'Brian's Aubrey/Maturin series, which includes twenty 

A) To present a reason the unusual structure that O'Brian uses 

endings of The Hundred Days and other books in the series, 
saying that they do not finish conclusively but arbitrarily stop. 
But other critics argue that the books should not be thought of 
as discrete texts with traditional beginnings and endings but as 
a single incredibly long work, similar to other multivolume 
stories, such as Marcel Proust's In Search of Lost Time.

Which choice best states the main purpose of the text?

completed books. Some critics have found fault with the abrupt 

for The Hundred Days makes it one of his most complex 

and offer two differing viewpoints on this characteristic.

books.

to be remarkably entertaining despite flaws in the novels' 
D) To explain why many critics find the Aubrey/Maturin novels 

structures.

C) To describe a characteristic of the Aubrey/Maturin novels 

literary renown of In Search of Lost Time.
B) To argue that the Aubrey/Maturin series should have the 
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Birds of many species ingest foods containing 
carotenoids, pigmented molecules that are converted 
into feather coloration. Coloration tends to be 
especially saturated in male birds’ feathers, and 
because carotenoids also confer health benefits, 
the deeply saturated colors generally serve to 
communicate what is known as an honest signal of 
a bird’s overall fitness to potential mates. However, 
ornithologist Allison J. Shultz and others have found 
that males in several species of the tanager genus 
Ramphocelus use microstructures in their feathers to 
manipulate light, creating the appearance of deeper 
saturation without the birds necessarily having to 
maintain a carotenoid-rich diet. These findings 
suggest that _______ 

Which choice most logically completes the text? 

A) individual male tanagers can engage in honest 
signaling without relying on carotenoid 
consumption. 

B) feather microstructures may be less effective 
than deeply saturated feathers for signaling 
overall fitness. 

C) scientists have yet to determine why tanagers 
have a preference for mates with colorful 
appearances. 

D) a male tanager’s appearance may function as 
a dishonest signal of the individual’s overall 
fitness. 

19 

When writing The Other Black Girl (2021), novelist 
Zakiya Dalila Harris drew on her own experiences 
working at a publishing office. The award-winning 
book is Harris’s first novel, but her writing _______ 
honored before. At the age of twelve, she entered a 
contest to have a story published in American Girl 
magazine—and won. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) were 
B) have been 
C) has been 
D) are 

20 

The Alvarez theory, developed in 1980 by physicist 
Luis Walter Alvarez and his geologist son Walter 
Alvarez, maintained that the secondary effects of an 
asteroid impact caused many dinosaurs and other 
animals to die _______ it left unexplored the 
question of whether unrelated volcanic activity might 
have also contributed to the mass extinctions. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) out but 
B) out, but 
C) out 
D) out, 
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A) It explores Dolly's lifelong interest in folk music, then 

these two genres, she achieved her greatest commercial 
successes. A decade earlier, however, Dolly had first 
established herself as a songwriter steeped in the traditional 
folk music of the Blue Ridge Mountains, where she was born 
and raised. The influence of the ballads of this region can be 
heard in the word choice and subject matter of the lyrics to 
"Jolene," one of her best songs from this period.

Which choice best describes the overall structure of the text?

debates whether pop music influenced "Jolene."

Come Again" is typical of Dolly Parton's recordings in the late 

B) It discusses a particular period in Dolly's recording career, 
then considers the music in an earlier period of her career.

C) It enthusiastically recommends Dolly's earliest recordings, 

D) It praises "Here You Come Again," then notes how 
remarkably similar that song is to a song that Dolly recorded 
earlier in her career.

1970s and first half of the 1980s. Through songs bridging 

then expresses disappointment with her later recordings.

With its combination of country and pop influences, "Here You 

C) It explains researchers' observations that individuals typically 

A) It underscores that most research on social interactions fails 
to capture a category of connection that has the capacity to 
contribute positively to individuals' sense of well-being.

B) It reflects an overemphasis on relationship longevity in 
researchers' evaluations of the relative importance of various 
connections in an individual's social network.

expect interactions with familiar people to be more positive than 

(Text1) most likely say about the discussion of the model in Text 

their interactions with unfamiliar people would be.

D) It emphasizes distinctions among types of close connections 
that aren't adequately represented in social relations research, 
since most studies categorize relationships as either close or 
casual.

2?

Based on the texts, what would Salman-Engin and colleagues 

who warmly thanked a shuttle driver than by those who didn't 

Studies contributing to the body of evidence that people 
generally enjoy socializing have routinely focused on interactions 
in ongoing relationships (from spouses to classmates), but 
psychologist Selin Salman-Engin and colleagues have 
demonstrated the benefit of making connections with strangers. 
Greater positive affect was reported by participants in their study 

speak to the driver.

social network).

Social relations research commonly draws on a model that 
centers an individual within three concentric circles. The 
innermost circle holds one's strongest ties (e.g., a treasured 
friend), the next holds close but less important ties (e.g., a 
teammate), and the outermost holds weak ties (those more 
distant but important enough to be counted as part of one's 
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In winter, the diets of Japanese macaques, also 
known as snow monkeys, are influenced more 
by food availability than by food preference. 
Although the monkeys prefer to eat vegetation and 
land-dwelling invertebrates, those food sources may 
become unavailable because of extensive snow and 
ice cover, _______ the monkeys to hunt for marine 
animals in any streams that have not frozen over. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) forces 
B) to force 
C) forcing 
D) forced 

22 

Lucía Michel of the University of Chile observed that 
alkaline soils contain an insoluble form of iron that 
blueberry plants cannot absorb, thus inhibiting 
blueberry growth. If these plants were grown in 
alkaline soil alongside grasses that aid in iron 
solubilization, _______ Michel was determined to 
find out. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) could the blueberries thrive. 
B) the blueberries could thrive. 
C) the blueberries could thrive? 
D) could the blueberries thrive? 

23 

In his 1963 exhibition Exposition of Music—
Electronic Television, Korean American artist 
Nam June Paik showed how television images could 
be manipulated to express an artist’s perspective. 
Today, Paik 

 

_______ considered the first video artist. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) will be 
B) had been 
C) was 
D) is 

24 

The first computerized spreadsheet, Dan Bricklin’s 
VisiCalc, improved financial recordkeeping not only 
by providing users with an easy means of adjusting 
data in spreadsheets but also by automatically 
updating all calculations that were dependent on 
these _______ to VisiCalc’s release, changing a paper 
spreadsheet often required redoing the entire sheet 
by hand, a process that could take days. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) adjustments prior 
B) adjustments, prior 
C) adjustments. Prior 
D) adjustments and prior
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C) The benefits of putting monitoring devices on sloths

D) Changes in sloths' habitats

A) How extinct sloths compare with living sloths

B) Scientists' efforts to understand sloths

hard for scientists to study them.

which topic?

From the extinct greater Haitian ground sloth to the living 

appealing animals native to the Americas. But scientists still 
Hofimann's two-toed sloth, sloths are among the most 

have a lot to learn about them. Unlike their ancient 

The author of Text 1 and the author of Text 2 both discuss 

correct misconceptions. It was long believed that sloths 

hours a day.
sleep all day. But, in fact, in the wild sloths sleep about nine 

ground-dwelling relations, today's sloths spend most of their 

activities of sloths. Such monitors can provide information to 

time high up in trees. The sloths' inaccessibility has made it 

Text 2: By using a hat-like monitor, biologist Bryson Voirin 
and colleagues can at last discover the previously hidden 

pointing out that baleen whales cycle iron in the ocean, 

Baleen whales eat up to 30 percent of their total body mass 
in krill (tiny shrimp-like creatures) per day. So in one day, a 
pygmy right whale weighing 3,500 kg could eat 1,050 kg, 
while a bowhead whale weighing 66,000 kg could ingest a 
whopping 19,800 kg. Over the last century, baleen whale 
populations have declined, and contrary to some scientists' 
expectations, so have krill populations. Matthew S. Savoca 
and colleagues resolve this apparent discrepancy by 

sustain krill populations.
helping support phytoplankton populations, which, in turn, 

decreasing levels of iron in the ocean.

Based on the text, what can most reasonably be concluded 
about pygmy right and bowhead whales?

decreased, the krill consumption of bowhead whales has 
increased.

B) The bowhead whale is able to eat more krill per day than 
the pygmy right whale is.

C) Both pygmy right and bowhead whales can eat krill, but of 
the two only the pygmy right whale can also subsist on 
phytoplankton.

D) Populations of both pygmy right and bowhead whales 
have declined significantly over the last century due to 

A) As krill consumption by pygmy right whales has 
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In order to prevent nonnative fish species from 
moving freely between the Mediterranean and Red 
Seas, marine biologist Bella Galil has proposed that a 
saline lock system be installed along the Suez Canal 
in Egypt’s Great Bitter Lakes. The lock would 
increase the salinity of the lakes and _______ a 
natural barrier of water most marine creatures would 
be unable to cross. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) creates 
B) create 
C) creating 
D) created 

26 

Despite being cheap, versatile, and easy to produce, 
_______ they are made from nonrenewable 
petroleum, and most do not biodegrade in landfills. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) there are two problems associated with 
commercial plastics: 

B) two problems are associated with commercial 
plastics: 

C) commercial plastics’ two associated problems are 
that 

D) commercial plastics have two associated 
problems: 

27 

Stomata, tiny pore structures in a leaf that absorb 
gases needed for plant growth, open when guard cells 
surrounding each pore swell with water. In a pivotal 
2007 article, plant cell _______ showed that lipid 
molecules called phosphatidylinositol phosphates are 
responsible for signaling guard cells to open stomata. 

Which choice completes the text so that it conforms 
to the conventions of Standard English? 

A) biologist, Yuree Lee 
B) biologist Yuree Lee, 
C) biologist Yuree Lee 
D) biologist, Yuree Lee, 

28 

Small, flat structures called spatulae are found at the 
tips of the hairs on a spider’s leg. These spatulae 
temporarily bond with the atoms of whatever they 
touch. _______ spiders are able to cling to and climb 
almost any surface. 

Which choice completes the text with the most 
logical transition? 

A) For instance, 
B) However, 
C) Similarly, 
D) As a result,
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in intricate patterns. The inventories also indicate that advanced 

C) Peoples in the Alazani River valley continued to uphold 

disrupted by demographic changes.
assumed to indicate that the transmission of expertise was 
specialized crafting traditions is less likely than previously 
B) A sudden simultaneous decline in artifacts from multiple 

likely occurred in the context of demographic continuity among 
peoples of the Alazani River valley.

A) Disruptions around 1500 BCE in the utilization of gold filigree 

Which choice most logically completes the text?

and copper-alloy metallurgy, even as demographic shifts 

suggesting that ______
traditions continued to flourish during this period, a finding 
copper-alloy metallurgy and most other specialized crafting 

multiple specialized crafting traditions, including goldsmithing 

BCE in the number of objects featuring gold filigree, an 

occurred.

groups in the Alazani River valley likely explains the expansion 
of copper-alloy metallurgy beginning around 1500 BCE.

4000 to 500 BCE show a steep drop occurring around 1500 
from the Alazani River valley and nearby areas dating from 
specialized crafting traditions. Inventories of excavation sites 
simultaneous reductions in the complexity of multiple 

D) Cross-cultural transmission between distinct demographic 

manifests in the archaeological record in the form of 
interrupts the intergenerational transmission of expertise, this 
Archaeologists assume that when a major demographic shift 

advanced technique in which fine threads of gold are arranged 

A) Crius;

Citing the example of Zeus, a mythological god whose tomb 
was reportedly located on the island of Crete, the writer 
Euhemerus (fourth century BCE) theorized that all the deities in 
the Greek pantheon — including the god of knowledge and the 
arts, Apollo; the god of wine and the theater, Dionysus; and the 
god of constellations, ______ may have been historical figures 
who, through the power of myth, underwent apotheosis.

Which choice completes the text so that it conforms to the 
conventions of Standard English?

B) Crius —

C) Crius,

D) Crius

Categorized as a dactyl, the word "gradient" consists of one 
stressed syllable followed by two unstressed syllables. The word 

D) refers

C) referring

B) is referred

A) referred

conventions of Standard English?
Which choice completes the text so that it conforms to the 

metrical verse known as a trochee.
followed by one unstressed syllable, a metrical foot in English 
"harpist," by comparison, consists of one stressed syllable 
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Text 1 
Most animals can regenerate some parts of their 
bodies, such as skin. But when a three-banded 
panther worm is cut into three pieces, each piece 
grows into a new worm. Researchers are 
investigating this feat partly to learn more about 
humans’ comparatively limited abilities to 
regenerate, and they’re making exciting progress. An 
especially promising discovery is that both humans 
and panther worms have a gene for early growth 
response (EGR) linked to regeneration. 

Text 2 
When Mansi Srivastava and her team reported that 
panther worms, like humans, possess a gene for EGR, 
it caused excitement. However, as the team pointed 
out, the gene likely functions very differently in 
humans than it does in panther worms. Srivastava 
has likened EGR to a switch that activates other 
genes involved in regeneration in panther worms, 
but how this switch operates in humans remains 
unclear. 

Based on the texts, what would the author of Text 2 
most likely say about Text 1’s characterization of the 
discovery involving EGR? 

A) It is reasonable given that Srivastava and her 
team have identified how EGR functions in both 
humans and panther worms. 

B) It is overly optimistic given additional 
observations from Srivastava and her team. 

C) It is unexpected given that Srivastava and her 
team’s findings were generally met with 
enthusiasm. 

D) It is unfairly dismissive given the progress that 
Srivastava and her team have reported. 

10 

The following text is adapted from William 
Shakespeare’s 1609 poem “Sonnet 27.” The poem is 
addressed to a close friend as if he were physically 
present. 

Weary with toil, I [hurry] to my bed, 
The dear repose for limbs with travel tired; 
But then begins a journey in my head 
To work my mind, when body’s work’s expired: 
For then my thoughts—from far where I abide— 
[Begin] a zealous pilgrimage to thee, 
And keep my drooping eyelids open wide, 

What is the main idea of the text? 

A) The speaker is asleep and dreaming about 
traveling to see the friend. 

B) The speaker is planning an upcoming trip to the 
friend’s house. 

C) The speaker is too fatigued to continue a 
discussion with the friend. 

D) The speaker is thinking about the friend instead 
of immediately falling asleep.

19

To understand the extent of deforestation in the Chorotega 
region of Costa Rica, Juan Pablo Arroyo-Mora and colleagues 
used historical aerial photography and remote sensing data to 
track changes in the annual mean size of forest patches 
across different land use capability classes (categories that 
indicate possible uses of forest land). Due to the Chorotega 
region’s climate, various types of forested areas were 
converted to cattle pasture as rising international meat prices 
drove a cattle ranching boom in the 1960s and 1970s. By 
1986, mean forest patch sizes had dropped considerably. In 
that year, they were between ______.

D) 0 and 50 hectares

C) 200 and 250 hectares

A) 100 and 125 hectares

B) 125 and 150 hectares

complete the assertion?
Which choice most effectively uses data from the graph to 

Lin-Tai Ho and colleagues monitored fish populations in a tide 
pool in Taiwan. They found that some species were entirely 
absent from the tide pool at particular times of the year; for 
example, they did not observe even one _______.

Which choice most effectively uses data from the graph to 
complete the example?

A) barred flagtail in January of 2001.

B) striated rockskipper in January and April of 2001.

C) barred flagtail in October of 2001.

D) combtooth blenny in January of 2001.

ADDITIONAL QUESTIONS
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especially promising discovery is that both humans 
and panther worms have a gene for early growth 
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When Mansi Srivastava and her team reported that 
panther worms, like humans, possess a gene for EGR, 
it caused excitement. However, as the team pointed 
out, the gene likely functions very differently in 
humans than it does in panther worms. Srivastava 
has likened EGR to a switch that activates other 
genes involved in regeneration in panther worms, 
but how this switch operates in humans remains 
unclear. 

Based on the texts, what would the author of Text 2 
most likely say about Text 1’s characterization of the 
discovery involving EGR? 

A) It is reasonable given that Srivastava and her 
team have identified how EGR functions in both 
humans and panther worms. 

B) It is overly optimistic given additional 
observations from Srivastava and her team. 

C) It is unexpected given that Srivastava and her 
team’s findings were generally met with 
enthusiasm. 

D) It is unfairly dismissive given the progress that 
Srivastava and her team have reported. 

10 

The following text is adapted from William 
Shakespeare’s 1609 poem “Sonnet 27.” The poem is 
addressed to a close friend as if he were physically 
present. 

Weary with toil, I [hurry] to my bed, 
The dear repose for limbs with travel tired; 
But then begins a journey in my head 
To work my mind, when body’s work’s expired: 
For then my thoughts—from far where I abide— 
[Begin] a zealous pilgrimage to thee, 
And keep my drooping eyelids open wide, 

What is the main idea of the text? 

A) The speaker is asleep and dreaming about 
traveling to see the friend. 

B) The speaker is planning an upcoming trip to the 
friend’s house. 

C) The speaker is too fatigued to continue a 
discussion with the friend. 

D) The speaker is thinking about the friend instead 
of immediately falling asleep.

19

In what is now New Mexico, the Pueblo of Pojoaque operates 

museums typically differ from the cultural centers operated by 

the Poeh Cultural Center. Relying on traditional knowledge to 

D) The museums focus on tribal history as well as tribal 

audiences. 
C) The museums are largely aimed at non-Indigenous 

B) The museums are often somewhat smaller in size.

exhibits.
A) The museums typically feature fewer artifacts in their 

the Pueblo of Pojoaque and the Tohono O’odham Nation?

culture.

According to the text, what is one way that non-Indigenous 

O’odham Nation, a tribe in Arizona, employs a similar strategy 

for designing exhibits.

history and culture to the tribe’s citizens. The Tohono 
guide the design of exhibits, this institution presents Pojoaque 

in its own cultural center. Both centers contrast with museums 
that aren’t Indigenous-led; when displaying Indigenous 
artifacts, such museums tend to anticipate mainly 
non-Indigenous audiences and rely on Euro-centric strategies 

A) To trace a historical development that encouraged the 

institutions
D) To draw a contrast between the collection sizes of two 

institution’s area of focus. 
C) To present information about two institutions, including each 

acquired funding to purchase artworks
B) To trace the founding of two institutions, including how they 

founding of two institutions

US-based institutions devoted to Latino cultures include Casa 

Which choice best states the main purpose of the text?

and cultures of Latino communities in Michigan.
de Rosado. Located in Lansing, Michigan, it focuses on the arts 

objects for its permanent collection. More recently founded 
States. Since its founding, it has acquired more than 1,300 
art by Latin American artists and Latino artists in the United 
Latin American Art is dedicated to modern and contemporary 
Founded in Long Beach, California, in 1996, the Museum of 
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